A £ 0l & AF & S

Al A

SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Arel S X110t 25,150,386 22,598, 162 2,552,224
= 12,771,071
[ 635,285
= 2,985,004
Ea 8,758,966
MNASSE SXJ|g &4 10,248,480 8,505,055 1,743,425
= 7,633,789
[ 147,238
= 906,951
= 1,560,502
=D =2 M2 W =2 10,184,708 8,444,608 1,740,100
= 7,633,789
= 116,988
= 900,901
o 1,533,030
28=A 245,400 241,573 3,827
= 196,320
= 24,540
[Ea 24,540
301 LEtE N = 245,400 241,573 3,827
= 196,320
== 24,540
= 24,540
01 ARIE2EHSFS(RRNEERTHE) 245,400 241,573 3,827
O2E=AIXE 981,600 *250H 245,400
= 196,320
= 24,540
2 24,540
22, NARSHE L ZANBLHSY(HBIE 1,960,877 1,904,416 56,461
)
= 1,568,702
< 156,870
= 235,305
301 EtE NS 260,877 304,416 A43,539
= 208,702
== 20,870
o 31,305
14 JIEt2 8= 260,877 304,416 A\43,539
OX22XNANS (SHHE22)
1,449,3162 x 158« 12 260,877
= 208,702
== 20,870
o 31,305




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 1,700,000 1,600,000 100,000
= 1,360,000
== 136,000
[Ea 204,000
11 AMEISXAEEES 1,700,000 0 1,700,000
OXNEZ2EXNAMS (XS XELHHE2Z)
1,700,000,000& 19K 2 1,700,000
= 1,360,000
< 136,000
2 204,000
N2, NARSHE L ZANSUEH2Y(MHSY 363,852 347,097 16,755
bl)
= 254,697
o 109,155
307 el2tol & 363,852 347,097 16,755
= 254,607
2 109, 155
I ENNEEEEETEES 363,852 347,097 16,755
OXAREHE 2%
363,852,000 * 11 2 363,852
= 254,697
[Ea 109, 155
NS THEHE SAEE M2HA 12,600 12,600 0
= 3,780
= 8,820
301 EtE N = 12,600 0 12,600
= 3,780
[Ea 8,820
03 A2 H A0S (XILTHH) 12,600 0 12,600
OXNS 2B SALA S8
131,250+« * 12 12,600
== 3,780
[Ea 8,820
AL XelAr oA Atell2el 31,476 30,707 769
= 9,443
= 22,033
307 elztol & 31,476 30,707 769
= 9,443
Ea 22,033
1 AMEISXAIEEXS 31,476 30,707 769
OXELAeI At F0AL Atefl2tel
2,623,000« 1E« 122 31,476
== 9,443
o 22,033




SA: ABIZXID
M MASE SADIE ¢
chelr VD Z=MEEH HEZo U 2 (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
NEX2LE 2K 10,000 10,000
307 212told 10,000 10,000
11 ARIS XA 2 X 10,000 10,000
OXNABHME SELHS| U 0SB0}
g 10,000,000& * 12l 10,000
o P =N = f = N 141,143 146,141 A4,998
= 112,914
s 28,229
307 212t01 & 141,143 146,141 A4,998
= 112,914
Ea 28,229
05 2ItRIE = 141,143 146,141 A4,998
O3l I=sSE! 374,166 x1E~12& 4,490
= 3,592
= 898
OslylIssd2 14,6942 <3+ 12& 4,129
= 3,303
o 826
ougsIss% 80,4798 x4 * 122 4,29
= 3,436
T 859
OFHIWII=SEH
388,750« 1H*12& 4,665
= 3,732
[Ea 933
OFE M=%t 353,250« 1H« 122 4,239
= 3,391
[Ea 848
O3 M EH =1 248,875 x4 B+ 12 11,946
= 9,557
s 2,389
OsIYMEAH %2 77,9798 x4« 122 3,743
= 2,994
o 749
OFYE L M=HE (X&) OIGHAF, Z= DAL
172,726 x508 «12& 103,636
= 82,909
s 2,727
JI=ZEWIAMS 121,473 69,150 52,323
= 8,150
o 113,323
307 @20l & 121,473 69,150 52,323
s 8,150
a 113,323




2A:
X XH -
o e

=aak

Ar2l = X 2t
NASSE X018 &4
DTS M2 e 29

SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 121,473 69,150 52,323
OINEZEYWIAIA(ZHIFIt 10,4008 )
37,000,000 174 A 37,000
< 6,650
2 30,350
OZCOAI (2HI% T} 78,4738 )
84,473,0003 * 11 £ 84,473
< 1,500
Ea 82,973
NASFD =pAAEEE XA 147,600 120,096 27,504
301 EtE NS 147,600 120,096 27,504
02 ARSI 2 X LGS (FHAAHS, XNLWE) 147,600 120,096 27,504
ORASTO 20IALBHE X
10,2502 %1,2008 122 147,600
HEE JIZYE2E dAHS=0 25,200 25,200 0
== 12,600
o 12,600
301 22N 25,200 25,200 0
[ 12,600
T 12,600
02 MBI 2HHSFHS(HAANS, XLHE) 25,200 25,200 0
OFSE IZMEDE M3 20
300,000 +7Jt=2+12& 25,200
= 12,600
[Ea 12,600
A=A 6,812,280 5,204,987 1,607,293
= 5,449,824
= 681,228
i 681,228
301 LEtE N = 6,812,280 5,204,987 1,607,293
= 5,449,824
& 681,228
= 681,228
01 AR HSFS(RRNEERTHE) 6,812,280 5,204,987 1,607,293
OdASN 436,684 .63 *1,3000t 7+ 12& 6,812,280
= 5,449,824
[ 681,228
Ea 681,228
M= 15,904 15,691 213
308 AHXIEMSOIH 15,904 15,691 213
08 W=J| 2022 15,904 15,691 213
Ouss: 56,0003 %284 15,904
RN ESPNI=10 36,598 37,746 A1,148
= 29,278




£A: /\EI%I_IEPE e
zij; gaﬁ;zéﬂﬁ%flﬁj’légﬂ_&oﬂ e 29 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 3,660
= 3,660
301 LetENEZ 36,598 37,746 A1,148
= 29,278
= 3,660
= 3,660
01 ASIBEXHZ2(2DEXTHA) 36,598 37,746 A1,148
O & E RIS 795,6082 *46H 36,598
= 29,278
= 3,660
= 3,660
LAIEOI(J| =S AL EQI) 22,054 22,054 0
= 22,054
301 LEHBEF 22,054 22,054 0
= 22,054
01 A B& X Z2(2REETHA) 22,054 22,054 0
= AT Hotm 5 S| (EH
OJl==gkt 2232 01X ‘_44(,8'8?;;2150;_*12% 2 064
= 22,054
)| =M =3 X K& 4,680 4,680 0
202 Ot 4,680 4,680
01 =WO4bI 4,680 4,680
OMEBET ADEF(ZA)
130,000& x3Z * 12 4,680
A7 SetAtd2e] XI& 12,600 12,600 0
s 6,300
= 6,300
201 B2 AY| 600 1,300 AT00
s 300
i 300
01 ArR222ltl 600 1,300 AT700
OAtell 22| A 29 10,0002 x60H 600
s 300
= 300
301 LPENSZ 12,000 11,000 1,000
= 6,000
i 6,000
01 A EE A2 (R REETR) 12,000 11,000 1,000
OAted 22| CHat Rt XI& 500, 00024 = 2000
s 6,000
i 6,000
SEAr2Z2t el A o1A8] XI& 107,301 99,560 7,741




A AIZIS XDt
M LSS SXIY X4
Shelr VD= MEEE N e 2 (e &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 34,728
= 72,573
101 eI t| 93,549 88,484 5,065
= 34,728
i 58,821
03 SR (RIHL) 22X 93,549 88,484 5,065
OSlA 7782 (2HI=IF 13,5028 &) 49,010
=Jl2= 2,727,630 1B+ 128 32,732
s 16,366
= 16,366
—JAUGA| 140,000& 1H + 122 1,680
s 840
= 840
—F5222 165,000 *1H*13] 165
— A2t 2R+ 308,8503*x1Hx 123 3,707
s 548
= 3,159
—HEIOHI 1,636,580& *1H*23] 3,274
—IEY 220,0003 x 14+ 122 2,640
— X 109, 7702 x1H 10 1,098
&2 1,376,820 18 +23| 2,74
—J2EIRt3 80,0003« 1« 12& 960
O YA 128 2(28I=D1 10,591F ) 44,539
=Jl23 2,597,630 18+ 12& 31,172
s 15,586
i 15,586
—Z UG Al 140,000 x1H» 123 1,680
s 840
= 840
—FYU22E 160,000&*1E* 13l 160
—ANZtI28E 294, 7503 x 1+ 123 3,537
s 548
i 2,989
—HEFOHHI 1,558,580& * 18 *23] 3,118
—IEY 40,0002 1+ 128 480
— X< 104, 7902 x1H 10 1,048
&2 1,311,820 x1H*23] 2,624
- = P = 60,0003 x1H«12& 720
M HIFRE3SS 13,752 11,076 2,676
M R (RIAHN) 22X BEa84=2 S 13,752 11,076 2,676
OAH32L2S(2HIFI} 13,7528 &) 13,752
—4UBEZ(SLA 175 E)
623,000& x 14+ 122 7,476




SA: ABIZXID
33 M55 sADIE =4
chelr VD Z=MEEH HEZo U 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AUHEEHZ (A 1288)
523,000 «1H* 123 6,276
SHS XEE SEAHA NEH 110,670 110,910 A240
[ 75,960
o 34,710
201 et 3| 11,000 11,000 0
[ 7,700
o 3,300
01 Al 22IH| 11,000 11,000 0
0S8 ¥EE SEAHIA(MRB2ILNI
1,000,000 «110HSH 11,000
s 7,700
= 3,300
202 0o4dl 2,160 2,400 A240
01 =LHNHI 2,160 2,400 A240
OAtefl2te] ge=a 2,160,000& 2,160
301 EtE NS 97,510 97,510 0
[ 68,260
[Ea 29,250
01 AR 2EHSHS(RNEXRTHE) 97,510 97,510 0
OSP XES SEAHIA(MZ2IAR)T
& 97,510,000 * 14| 97,510
= 68,260
= 29,250
UNE=PAE-—Sull=ImE={ul DAL= 3,000 0 3,000
= 630
o 2,370
307 @12t01 & 3,000 0 3,000
== 630
o 2,370
10 Al2ISTIAIEEE 22X 3,000 0 3,000
OX<STtEHE wsHl X
3,000,000& 10 2 3,000
= 630
= 2,370
Ardi2tel BERMA e 63,772 60,447 3,325
[ 30,250
= 6,050
= 27,472
AtedlZiel MEHA HE (A2 S22 AL 63,772 60,447 3,325
= 30,250
[ 6,050
Ea 27,472
101 @124H| 63,772 60,447 3,325




SA: ABIZXID
33 M55 sADIE =4
Rl Aldi2tel XA O (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 30,250
=S 6,050
s 27,472
03 SR (RIH )22 E 4 63,772 60,447 3,325
O2lzsd2elAt 212 63,772
—S|R30IBAIA 0121 2EY)
3,151,000« 1& 12 37,812
= 30,250
< 6,050
2 1,512
—o 202N Q121 IR
2,163,330« 1H* 122 25,960
AAHE a4 & o N3 11,569,824 11,230,806 339,018
= 4,853,325
= 488,047
< 1,335,539
s 4,892,913
ol XS 9,951,384 9,541,469 409,915
= 4,845,825
== 1,232,399
[Ea 3,873,160
oelg=s 20 XNs 1,498,611 1,698,229 A199,618
= 1,049,028
=S 134,875
s 314,708
301 EetE2 NS 1,498,611 1,698,229 199,618
= 1,049,028
= 134,875
Ea 314,708
01 Al EE AT S (2 RDEEMRA) 1,498,611 1,698,229 A199,618
OFelgs =0 X2
3,375,250 x444H 1,498,611
= 1,049,028
= 134,875
[Ea 314,708
=== (01x) X2 259,827 252,726 7,101
= 181,879
= 31,179
[Ea 46,769
301 LEtE N = 259,827 252,726 7,101
= 181,879
== 31,179
= 46,769
01 ARIE2EHSFS(RRNEERTHE) 259,827 252,726 7,101




FA ASIS 1
mm: AQME Ao H BA N
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFS{ ER={CIESNI= 519,654 & 5002 259,827
= 181,879
== 31,179
[Ea 46,769
ZH==2(XHa? S) X= 138,794 161,760 N22,966
= 97,156
== 16,655
[Ea 24,983
301 22N = 138,794 161,760 N22,966
= 97,1%6
= 16,655
o 24,983
01 Al E2E A S(FREEMA) 138,794 161,760 N22,966
OBH+L(Ra2] S) NZ
390,969 *355% 138,794
= 97,1%6
= 16,655
o 24,983
ZOojQIdRtelX& (et e xtel) 384,450 374,846 9,604
= 192,220
= 76,900
o 115,330
101 21A4H| 383,450 373,846 9,604
= 191,720
= 76,700
o 115,030
MU IIRINZZE2NSES 383,450 373,846 9,604
OFOIUTIZ! XIS (L AR
2,458,012« 13« 122 383,450
= 191,720
= 76,700
= 115,030
201 er2 3| 1,000 1,000 0
= 500
= 200
= 300
01 At2teltl 1,000 1,000 0
OZoHI LRl X (et MUR)
1,000,000 %14 1,000
= 500
= 200
= 300
ZOHQI LTI XI& (AIZEHIZXte] ) 177,440 173,046 4,3%
= 88,720




2A:
T ZH -
o e

Sk

Ar2l = X 2t

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

A H

35,490
53,230

101 e124d|

HH W

176,440
88,220
35,290
52,930

172,046

4,34

04 JIZtHN2Z2 X S8+
OFOHelXtel X (LerEAIZEA)
1,225,277+ 128« 128

HH W

176,440

176,440
88,220
35,290
52,930

172,046

4,34

HH W

1,000
500
200
300

1,000

01 At22t2l]
OFOHAI L Xl X (LB AIRIHI)

HoH W

1,000

1,000
500
200
300

1,000

ZOQI L K2 XIR (=X L Rt2l)

HoH W

179,630
89,810
35,930
53,890

161,974

17,656

307 212+01&

MW

179,630
89,810
35,930
53,890

179,630

11 ARRIS XA E X

OFofeI el N (SXLRel)
575, 7372262« 122

Mo W

179,630

179,630
89,810
35,930
53,890

179,630

e sXF=H KA

Mo W

2,266,071
1,586,250
203,946
475,875

2,045,941

220,130

307 212+01™

Mo W

2,266,071
1,586,250
203,946
475,875

2,045,941

220,130




2A:

Ar2l = X 2t

33 AAE o2 2 gy X
chel: Fofel =XEA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 2,266,071 2,045,941 220,130
o asX= 26,659,658 «85& 2,266,071
= 1,586,250
< 203,946
[Ea 475,875
Zope! 2sXA30 X&(<Hl,24]) 94,088 91,670 2,418
= 28,226
o 65,862
307 el2to| & 94,088 91,670 2,418
= 28,226
o 65,862
05 212+ = 94,088 91,670 2,418
OFNUBENR T XX
5,534,588 17 94,088
== 28,226
[Ea 65,862
Zojel sXESH KNFOHIS0) 28,642 14,497 14,145
= 20,049
== 2,578
o 6,015
307 212+01& 28,642 14,497 14,145
= 20,049
S 2,578
o 6,015
05 git?(& = 28,642 14,497 14,145
OHMHAUSSXI (Otat=N)
7,160,500 »4H 28,642
= 20,049
S 2,578
o 6,015
o 2sXE s S8+ 2,240 2,520 A280
201 2= 2,240 2,520 A280
01 At22t2lt] 2,240 2,520 2280
OZOOIZENR AR BA2Y
70,0002 28 x 162 2,240
LETHEMEIA HIRH X 95,856 86,365 9,491
= 67,099
[ 9,586
T 19,171
307 glztol & 95,856 86,365 9,491
= 67,099
== 9,586
o 19,171




2A:

Ar2l = X 2t

T AQNE MOl B B4 X
chel: Fofel =XEA (SHol: )
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
05 elzte(&r = 95,856 86,365 9,491
OgLMEAbl A 2,3%,400% ~40H 95,856
= 67,099
= 9,586
T 19,171
ZOHQIEHA X ZOHQ! 234 HAL IR 208,809 291,244 N82,435
201 L2 1,622 1,622 0
01 AtR22telbl 1,622 0 1,622
OZofelsl2 =Xl 1,622
—s&J| et™&e|] 121,000~ 128 1,452
—520| FIIAA 242
170,000& %12 170
202 04| 6,240 4,680 1,560
01 =LHA I 6,240 4,680 1,560
OFfOIRE HSEH(ZN)
130,000& x4« 12& 6,240
307 212+01™ 200,947 201,942 A995
03 BIHHNEHE 2 SHI2x 95,291 87,882 7,409
Osotelgsl X 172,0002 122 2,064
O&BEHEHMLAE K&
2,960,4162 122 35,525
OXIMEMeIgal X2
2,685, 750& x 128 32,229
OoHlgelelted 28 K&
1,942, 75023« 128 23,313
OAIZE I3 XA 180,000& « 122 2,160
11 ARRIZXAIE 2= 105,656 96,060 9,5%
O2Y=Nu= 250,000 *122] 3,000
Os0tel &2l = 2,000,000& %12 2,000
Ogzd & M=A9 =02l X=Xzl &
b 2,700,000& %12 2,700
Os0tel X2t
1,350,000 %12 1,350
SO0t QIADN 2,000,000& %12 2,000
OAIZE IS 2dusE S
267,500 +82 2,140
OAIZTE e B2t AL
3,150,000& %12 3,150
OAIZEeIEal E0lah Alata L 3tet
store 1,000,000& %12 1,000
OAIZZ el 23t (ZE=H)
2,000,000& %12 2,000
OBLHEM Sl HOH!ID SH2Me WE
CHal 7,450,000 13! 7,450
OB=cHEEal A1 e 8tite
3,500,000& %12 3,500




2A:

Ar2l = X 2t

M AQIHES a2 & ey XId
s ool SXsH (SH &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
OBEHEMLE SHER gsZ =4
3,000,000 *13] 3,000
OXIXMZOoHe! atAH==& 2l
2,600,000 *13] 2,600
OB ML 2E 22
2,170,000& 13 2,170
ORofRISlL JIEA X
20,000,000& *13] 20,000
OFOHR! 0ISD17] #=2lMlEe K&
3,966,330 * 128 47,5%
HoelsE=NE 23 1,297,359 1,208,359 89,000
= 245,600
= 1,051,759
307 QI2H0| M 1,248,359 1,170,359 78,000
& 245,600
= 1,002,759
05 QIZtRIEIS 1,248,359 1,170,359 78,000
OXeIsE=X2 2 (2121])
4,026,3152*19Z 12042 918,000
& 183,600
i 734,400
OXHeIBESX2(2LHl, ArHl)(Z281F
Jt 20,359& &) 330,359,000 *17H 2 330,359
= 62,000
= 268,359
401 AIEHIZL 2018 49,000 49,000
01 Al&Hl 49,000 49,000
QeI BSE=X2 J|IsEd 49,000
28 M= 40,000, 0002 *14! 40,000
—DINEYX (=2-) AL &3
9,000,000 * 14 9,000
KGALSI THEAIE XIR 539,420 521,800 17,620
& 104,084
i 435,336
201 L2 | 8,000 4,000 4,000
2 BB=H| 8,000 4,000 4,000
OBOO! ZXAIE SN2
8,000,000& 14 8,000
307 gI2tol ™ 531,420 517,800 13,620
= 104,084
i 427,336
10 Al ZXAIEHE 2FHIEx 531,420 517,800 13,620
Ol =UAES AL 2Y(e124d])
139,500,000 * 100 &~ 139,500
& 27,900




2A:

RZH

A= X3

””ﬁzﬁg;ﬁ%ﬁaoo ] (St ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 111,600
OF0HOl FABBAIL 2 (RISBARY)
67,500,000 * 11 2 67,500
[ 13,500
T 54,000
OO ZALSAIE S (22l2AH|)
16,000,000 * 10 2 16,000
= 3,200
[Ea 12,800
OFofe! Me0ls XM 22(ZHI=01 8
0003 2) 152,420,000 17§ & 152,420
= 28,8%4
2 123,53
O+0{SAME 29 (2HIZI13,0088)
156,000,000 * 100 2 156,000
= 30,600
[Ea 125,400
ZONU=KIAIE SAK S8+ 111,000 90,000 21,000
< 33,300
[Ea 77,700
301 2eEN= 111,000 0 111,000
& 33,300
= 77,700
03 AR 2EHFS(XILH) 111,000 0 111,000
OHMA=SXAIE SAHL S8
1,913, 7932 x58H 111,000
= 33,300
Ea 77,700
ZoHrESAlE X2 2 80,908 73,158 7,750
== 20,225
[Ea 60,683
307 212+01& 80,908 73,158 7,750
== 20,225
= 60,683
10 Al SXAEEHE 22X 80,908 73,158 7,750
OZOHAEIAIL XIJHH 25 (2HIFIt 6
000& &) 80,908,00094*13Hi 80,908
= 20,225
Ea 60,683
UL HF=AIE 2 XA 1,466,686 1,264,807 201,879
= 1,026,680
= 88,001
[Ea 362,005
307 el2to| & 1,466,686 1,264,807 201,879




FA ASIS 1
B A0S 40 H A N
chel: Fofel =XEA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,026,680
=S 88,001
s 352,005
10 Al SXAEEE 22X 1,466,686 1,264,807 201,879
OBOR! HFNL 2
1,466,686,0002 * 11 2 1,466,686
= 1,026,680
= 88,001
o 352,005
o ssdENns =28 N 75,380 72,970 2,410
< 7,538
T 67,842
307 glztol & 75,380 72,970 2,410
= 7,538
= 67,842
10 Al SXAAEEHE 22X 75,380 72,970 2,410
OH=sdey 24
75,380,000 * 100 2 75,380
= 7,538
o 67,842
ZOHRIHZ=AIE CCTVEIEH] X 683 1,140 N457
[ 205
Ea 478
307 elztol & 683 1,140 N457
= 205
= 478
10 Al SXAEEHE2EHI 22X 683 1,140 N457
OHOHAIH=F=AIE COTVERIEH] XI&
45,5302 *304 504 = 683
= 205
[Ea 478
2 XU 24 410,460 319,839 90,621
= 42,900
= 94,530
Ea 273,030
202 048l 2,160 2,400 A240
01 2L AL 2,160 2,400 A240
O SXAY gR=8
2,160,000& 2,160
307 212+01& 322,500 317,439 5,061
& 64,500
= 258,000
05 2ItRIE = 322,500 317,439 5,061




SEAk PilEII_’LO I
S*ZH'; X*Ofll‘jj" Ellg a e (e & )
SA - B BRA(SH) - HRA - of v G o HIDE2
SR 29
CENEEEREg =S 322,500,000 * 100 2 322,500
= 64,500
Ea 258,000
401 AlZHIZ SO 85,800 0 85,800
= 42,900
= 30,030
[Ea 12,870
01 Al&H| 85,800 0 85,800
CENEEEREg JsE 85,800,000 * 14 85,800
= 42,900
= 30,030
o 12,870
LEADJEME 1,999 1,720 279
= 1,600
= 160
= 239
301 EtE N = 1,999 1,720 279
= 1,600
= 160
s 239
01 A2 HSFS(RDNEERTHE) 1,999 1,720 279
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